ELTOMATIC

www.eltomatic.com A part of the Scancon Group

Eltomatic A/S - Fabriksvej6 - DK-9490 - Pandrup - Denmark - Phone +4598 246166 - CVR/VAT No.25469968 - eltomatic@eltomatic.com

Electronic interface upgrade kits for VR mechanical registers

Kit 99.5001. VR register without printer (01-08 encoder):

GALLONS

0000 O

CAUTION: UNIT WILL BE DAMAGLD I KLSIT WIHILE COUNTING

Mounting bracket Encoder

2x Screws

Coupling

Included in the kit no 99.5001:
Description ‘

Part number

1 pcs. Mounting bracket 71.1007
2 pcs. Sealing screw M4x8 51.5000
2 pcs. Screw M4x8mm 51.1048
4 pcs. M4 lock washers 52.1540
1 pcs. Mounting instruction Manual 00.6001

Not included in the kit 99.5001:
Description ‘

Part number

1 pcs. 01-08 encoder* 98.XXXX
1 pcs. 01-08 coupling** 62.0098
4 pcs. Screws for mounting the mounting bracket into the VR register. n/a
1 pcs. optional cable gland for the encoder’s cable entry into the VR register. 59.2512
On request a @5-11mm cable gland can be delivered

*If the encoder is ordered together with a kit, it will be factory assembled as one unit.

**The coupling is factory installed in the encoder and is not interchangeable.

[ Doc. version | Date [ Author [ Document Page

[ 3

| 11.09.2019 | Ly | 06 Kits for VR mechanical registers

laf3




ELTOMATIC

www.eltomatic.com A part of the Scancon Group

Eltomatic A/S - Fabriksvej6 - DK-9490 - Pandrup - Denmark - Phone +4598 246166 - CVR/VAT No.25469968 - eltomatic@eltomatic.com

Kit 99.5004. VR register without printer (01-09 encoder):

GALLONS

DDOODD|

CAUTION: UNIT WILL BE DAMAGID I KLSIT WIHILE COUNTING

Mounting bracket Encoder
@

W

2x Screws

Coupling

Included in the kit no 99.5004:
Description ‘

Part number

1 pcs. Mounting bracket 71.1007
2 pcs. Screw M4x10 51.1530
2 pcs. M4 bolt 53.0010
4 pcs. M4 lock washers 52.1540
1 pcs. Mounting instruction Manual 00.6001

Not included in the kit 99.5004:
Description

Part number

1 pcs. 01-09 encoder* 98. XXX
1 pcs. 01-09 coupling** 62.0162
4 pcs. Screws for mounting the mounting bracket into the VR register. n/a
1 pcs. optional cable gland for the encoder’s cable entry into the VR register. 59.2512
On request a @5-11mm cable gland can be delivered

*If the encoder is ordered together with a kit, it will be factory assembled as one unit.

**The coupling is factory installed in the encoder and is not interchangeable.

[ Doc. version | Date [ Author [ Document Page |

[ 3

| 11.09.2019 | Ly | 06 Kits for VR mechanical registers

2af3




ELTOMATIC

www.eltomatic.com A part of the Scancon Group

Eltomatic A/S - Fabriksvej6 - DK-9490 - Pandrup - Denmark - Phone +4598 246166 - CVR/VAT No.25469968 - eltomatic@eltomatic.com

Kit 99.5002. VR register with printer (01-09 encoder)

LITRES

p0oDDD
G
po NOT RESET WHILE COUNTIN

CE%}EY\ M4 bolts
__L7 M4 washer

X
|

— - -
Distance piece

\C)
Encoder

Included in the kit 99.5002:
Description

Part number

2 pcs. M4x10mm bolts 51.1710
2 pcs. M4 lock washers 52.1540
2 pcs. Distance piece 64.0011
1 pcs. Split gear Z24-45° (2 half gears) 61.1013
2 pcs. 3x12mm screws 51.5502
1 pcs. Mounting instruction Manual 00.6001

*The coupling is factory installed in the encoder and is not interchangeable.

Not included in the kit 99.5002:
Description

Part number

1 pcs. 01-09 encoder* 98. XXX
1 pcs. 01-09 coupling** 62.0071
4 pcs. Screws for mounting the mounting bracket into the VR register. n/a
1 pcs. optional cable gland for the encoder’s cable entry into the VR register. 59.2512
On request a @5-11mm cable gland can be delivered

*|f the encoder is ordered together with a kit, it will be factory assembled as one unit.

**The coupling is factory installed in the encoder and is not interchangeable.

[ Doc. version | Date [ Author [ Document Page

[ 3

| 11.09.2019 | Ly | 06 Kits for VR mechanical registers

3af3




